a(pp — H X)L, b

Ratio to LHCB

=
o
S

=
o
w

10?

0.5

70

OQ va pp

Charged Particlen Distribution (with LEP fragmentation fractions)

m LHCB
--3-- Herwig 7.0.1 default
—a— Pythia 8.180 default

- ¢ Sherpa 1.4.1 default —
.......................................................................... ’
L o . T —
: . -
_l —1 | | | | | | | | | | | | | | | | | | |_
:l T T T T | T T T T | T T T T | T T T T |:

A |
| " 1 1 1 1 " | " 1 1 1 1 " | " 1 1 1 1 " | " 1 1 1 1 |
2 3 4 S

Rivet 3.1.0, = 6.8M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


